SPARE PARTS

PROTECTS

YOUR HEALTH

40L DRUM DUST

e 5 obb

»//

dd

oo/,

POS. ITEM no. DESCRIPTION ary. POS. ITEM no. DESCRIPTION ary.
1 500452  DRUM BASE (PAINTED GREY) 1 18 500940 10 INCH WHEEL 2
2 500412 DRUM LINER (FOR ASSEMBLY VIEW) 3 19 500624  CIRCLIP 2
3 500413  DRUM LINER (FOR ASSEMBLY VIEW ONLY) 1 20 500179  BLANKING CAP FIXING WIRE 1
4 500134  BLACK PLASTIC CAP 1 21 500178  NO& X 3/8 INCH LONG POZI PAN SELF TAP SCREW 1
5 500136  ECLIP 1 23 500178  NO& X 3/8 INCH LONG POZI PAN SELF TAP SCREW 1
[ 500135  LOCKING BAR KNOB 1 24 500138  BLANKING CAP 1
7 500634  LOCKING BAR 1 25 500914  NDD BAYONET BAG CONNECTOR CMPL 1
8 500133  LOCKING BAR SUPPORT 1 28 500907  NOS X 5/8 INCH LONG POZI PAN PLASTITE SCREW 4
9 500132  COMPRESSION SPRING 1 29 500369  TOOL MOUNTING BAR (RVS) 1
10 500833  DRUM 40L BLACK 1 30 500187  NO10 X 43MM LONG POZI PAN COUNTER SUNK PLASTITE SCREW 4
11 500690  BLACK PLASTIC CAP 2 31 500938-1 3INCH CASTOR 2
12 500186  M5X 10MM LONG POZI PAN SEMS SCREW 2 32 500487  HANDLE ASSEMBLY 1
13 500779  TOGGLE FASTENER 2 33 500910  HANDLE BLOCK SPACER 2
14 500783  SPACER 2 34 500911 M6 X 70MM LONG POZI PAN COUNTERSUNK SCREW 4
15 500172 M5X 12MM LONG POZI PAN COUNTERSUNK SCREW 2 35 500941  Mé COUNTERSUNK LOCK WASHER 4
16 500194  E-CLIP 2 36 500603 900 DRUM LOWER HANDLE (RVS) 1
17 500184  STUB AXLE 2 37 500913  PLASTIC SADDLE FOOT 2

Klop Innovations bv
Hermesweg 114 Telefoon: +31 (0)85 9020000
KLOP 4051 BV Ochten info@klopinnovations.com

INNOVATIONS

The Netherlands www.klopinnovations.com



